

$a_1 = 40$

$a_2 = 61$

$a_2 = a_1 + 2d = 61 \rightarrow 40 + 2d = 61 \rightarrow d = 10.5$

جمله n ام: $a_n = a_1 + (n-1)d = 40 + (n-1)10.5 = 10.5n + 29.5$

$a_n = 10.5n + 29.5$ چون گفته ۳ رقمی $100 \leq 10.5n + 29.5 \leq 999$

$99.5 \leq 10.5n \leq 969.5 \rightarrow \frac{99.5}{10.5} \leq n \leq \frac{969.5}{10.5}$

$9.47 \leq n \leq 92.33 \rightarrow 10 \leq n \leq 92$

$a_{n+1} + a_{n+2} + a_{n+3} = -4n + 12 \rightarrow 3x(a_{n+2}) = -4n + 12$

چون ۳ جمله متوالی $3x a_p =$

$a_{n+2} = -2n + 4$

$n=1 \rightarrow a_3 = 2 \rightarrow n=15 \rightarrow a_{17} = -26$

$2^x - 1 = a_3$
 $2^{x+1} = a_7$
 $2^{2x} - 2 = a_{13}$

$2^x - 1 + 2^{x+1} - 2 = 2^{x+1}$

$a_3 + a_7 + a_{13} = 2 + 16 + 12 = 30$

$2^x + 2^{x+1} - 2 = 30 \rightarrow 2^x + 2^{x+1} = 32 \rightarrow 2^x = 8 \rightarrow x = 3$

$d = \frac{a_{12} - a_{10}}{12 - 10} = \frac{5}{2}$

$a_{21} = a_1 + 20d \rightarrow -12.5 + (20 \times \frac{5}{2}) = 37.5$

$a_{10} + a_{12} = 25 \rightarrow 2a_1 + 20d = 25$

$2a_1 + 50 = 25 \rightarrow 2a_1 = -25 \rightarrow a_1 = -12.5$

$$\frac{a_p + a_v + a_n + a_q + a_{10}}{a_1 + a_p + a_r + a_f + a_{10}} = \frac{a_p(1 + d + r d + \cancel{p d} + f d)}{a_1(1 + d + r d + \cancel{p d} + f d)} = \frac{a_p}{a_1} = r$$

$$a_1 + a_d = r a_1 \rightarrow r a_1 = a_d \rightarrow d = \frac{r a_1}{a_1} \rightarrow \frac{a_p}{a_1} = \frac{v a_1}{a_1} = \frac{v}{1} = 1, r$$

$$n = r \rightarrow t_r = t_1 + 1 \Delta$$

$$n = v \rightarrow t_v = t_r + 1 \Delta \rightarrow t_v = t_1 + r \Delta$$

$$t_v - t_r = r \Delta = 1 \Delta \rightarrow d = \Delta$$

$$\frac{(t_q - t_a)(t_a + t_w)}{t_v} = \frac{r d \times r t_v}{t_v} = \Delta d \rightarrow 1 \times \Delta = r \Delta$$

$$d = \frac{r + \sqrt{r} - r + 12\sqrt{r}}{12 + 1} = \frac{12\sqrt{r}}{13} = \sqrt{r}$$

$$d = \frac{rr - r}{rn - r + 1} = \frac{r_0}{rn - r} = \frac{11 - r}{n} \rightarrow r_0 n = rn - 1 \Delta \Rightarrow n = 1 \Delta$$

$$n = r$$

$$a_p + a_{1v} = a_n + a_{(n+r)} \Rightarrow r_0 = r_n + r$$

$$a_p + a_{1v} = a_n + a_{1r}$$

$$a_n = a_n = r a_p \rightarrow \underbrace{a + v d}_{a_1} = \underbrace{r a + q d}_{r a_p} \rightarrow r a + r d = 0 \rightarrow a + d = 0$$